N

20228 20ilaF LBESIH| HH|QITH ek ot

=
=

Od &F

A& & Al A

S SHIOITH A D
Ha: SHIZANS(DS/ T - AADS)
cHol: MHIFANS (SH9): &)
- _ _ HEAS
A - B SRA(Z) - MRAY - BES Ol &kt 01l AkoH HnS2
SBloITers ot 8,799,836 7,983,661 816,175
2 1,799,000
= 50,314
Al 6,950,522
SHFAHS(DS/BY - NHDS) 483,456 421,196 62,260
SHIFAHS 483,456 421,196 62,260
RTESYNINES 130,966 147,656 216,690
201 Br2H] 20,766 21,456 1690
01 ArR22H] 20,706 21,3% 2690
OMEIZE FIE 3,000,000 * 23] 6,000
OMEIZE 20t 22 MR HE HE
150,002 * 324 23l 90
OMHIZE 20 8T MARIH +F
70,0002 * 58 * 23| 700
OHHIQSTED| SXIE4 150,008 * 53] 750
OHBIIETE)| EXI(S) 2
60,0002 * 1CH = 33l * 122 2,160
OMBILIEST 2]
7,008 * 142 * 23] 196
OubIZA B2 AT
5002 * 23 * 10,0005 0,000
02 32| 60 60 0
O7.BE21 22l BB22 5,008 * 123 60
301 LBBFI 2,200 2,200 0
2 JIE2 a3 2,200 2,200 0
OMHIZE 20t B2 N 2uE
1,100,008 * 23] 2,200
307 BIRH0IH 108,000 24,000 16,000
02 BRIZMAIEEE 108,000 24,000 16,000
OBIHE SHIZA AFD AN FTAY
(BX2 9m) 94,000,002 * 14! 9%,000
OYE SBIZA 22 st&lial(2XS 80%)
7,500,009 * 141 * 80/100 14,000
HBITAIZEA 4,830 6,440 A1,610
201 BI2Y| 4,830 6,440 A1,610
01 ArR22IH] 4,830 6,440 A1,610
OMBIZAI K291 B4 4g
70,0002 * 14 + 33 2,940
OMHIZAI XH29IRS] FATE 01H]
90,0002 * 7% * 33l 1,890
HHICA 2 46,540 46,540 0
201 B2 ] 16,540 16,540 0
01 AFR22H] 10,540 0,540 0




SAf: SHIQIT A
M SHIBANS(DS/TY - HYDS)
ol SHIZAAS (SH9): &)
- _ _ HEAS
A - B SRA(Z) - MRAY - BES Ol &kt 01l AkoH HnS2
OFHItHE 29998 84 +g
70,0002 * 11 + 78] 5,39
OHHICH SRS FAXH Ot
90,0002 * 5% * 73] 3,150
OHICHA 4R ATH I
2,000,002 * 174 2,000
03 BA2 | 6,000 6,000 0
OEHITHE A& 6,000,000 * 14! 6,000
301 LBFES 30,000 30,000 0
12 JIErSAS 30,000 30,000 0
OHHIThA Al&E 30,000,009 * 1% 30,000
Mol 2 301,120 200,560 100,560
201 Er2Y] 301,120 200,560 100,560
01 AF= el 1,120 560 560
OMHQISES RSN HIIPIRS &H 4
70,0002 * 78 * 13l 490
OMMQISES RISH TIPSl AT Ol
90,0002 * 7% * 1l 630
03 BA2 Y| 300,000 200,000 100,000
OM43l MHQISZE Wz
300,000,002 * 14! 300,000
SSHOIYLLSPEN(DS/ROILEESDS) 3,860,048 3,582,611 277,437
= 17,514
Al 3,842,534
QRO ZH S DS LA 337,466 341,169 £3,708
= 17,514
Al 319,952
WS DU A 279,086 282,789 £3,708
101 2I21b| 22,866 21,140 1,726
04 JIREERSES 22,866 21,140 1,726
OQIR0IEIB2A AR 2| 2lzy 22,572
123 9,160 * 2%  4AI2t * 2492 18,247
—FRAY 91602 * 22  4AIR 48 3,518
—QIXIEE 91602 * 288  4AIRF x 112 807
OSIR0EIERA HA ol
9,1602 * 4AI2F » 43| * 2B 294
201 B2 Y] 20,020 19,497 523
01 AF= el 5,220 4,697 523
O=0DS 2 B2 MH
1,002 * 1 * 1,000% 1,000
ORUETIRA 40t M
60,0002 * 5744 + 23] 600




SN

X‘liH:

/\-1[:||O|};HOI:/\-17}
Z2HOIT oA
2I=01=H=tn

0 JIﬂ]
03
ton
=
1

ool (ol @)
S - FHE - 9l(SH) - NIRAY - BaS Ol Akt Dl HIDE2
- [ - S &= Of| AkoH WsSa
OLISHEZIGIRA EH2H & 2120 &2 =5
20,000& * 35 * 122 720
OLI2HEIStRA F=D| dIEd]
35,0003 * 100 = 123 420
OstzagEs 7Y
30,000& * 2& * 1&tA « 128 720
oMl ISEH 85 7Y 700
—100L 1,840% « 10f » 250 460
—50L 9603 + 10# » 250 240
Oaetel =& PC =2l
100,000& = 8CH * 20/100 160
O0IEXE SAD| =2l 500,000& = 1CH 500
O0l2XE sAD| EH 2 200,000& = 23l 400
02 2223l 14,800 14,800 0
OAZFNETSIRA 2R3
700,000& * 128 8,400
OA=HEISIRA HE FA=2IH]
2,000,000& * 1JHA 2,000
O=zctol =g 3 Al EZ 400,000& * 11& 4,400
301 LEEEZ 73,920 73,920 0
12 JIEtE2 43 73,920 73,920 0
AFHETSIRA =0 2ZAH =& 68,640
—Z0 ZAt
30,0003 * 138t » 2AI12F » 45 « 11E 34,320
—S=20 ZAt
30,0002 * 9Bt » 2A[2F » 43 » 11 23,760
—U=0f LA
30,0002 * 48t » 2A12F » 4= » 11& 10,560
OQR0IEIBI2A B20] LA 4
30,0003 * 28k * 2A12F » 4= « 11& 5,280
307 QI2t0| & 161,280 165, 132 A3,852
05 BIZIRIE S 161,280 165, 132 A3,852
OZ=Al ANE AOIHEAEN RS2
161,280,000& * 14! 161,280
405 RHAHE SHI 1,000 3,100 A2,100
02 A7l 1,000 1,000 0
O2=20 A FL(EJSIRAL TAEIXIE)
20,000& * 503 1,000
(D)YoME S22 RJAAY 58,380 58,380 0
< 17,514
Al 40,866
307 QI2t0| & 58,380 58,380 0
= 17,514
Al 40,866
02 QIZHFAA B 58,380 58,380 0




2A: Bl

M ZRHOMNLHSRFT(US/ROUILEESNSR)
=2l =202 NS SAS (el &)
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
. (=2 - S/ == 0:"&.0_‘” WsSa
OxS=d JodeEss A
58,380,000& » 14 58,380
< 17,514
Al 40,866
WEEZIMEAS 3,522,582 3,241,442 281,140
IR0 £E2 UsHA =4 2,872,582 2,691,442 181,140
201 Let2Zh| 1,540 6,040 24,500
01 At22teld] 1,540 1,540 0
Ou=ZHIEXZARAE =Y
70,0002 » 5% * 23] 700
OYZAl ety SRS0E RIS 42
70,000& » 6¥ * 23] 840
301 LEBES 10,000 16,500 26,500
02 Ze3dsk=a 10,000 10,000 0
OZFAl et e XtgiiE Ol KA
10,000,000& * 14! 10,000
308 AtXISHHMSO0IH 2,861,042 2,348,000 513,042
08 WEI|20IHeEx 2,539,000 2,348,000 191,000
Ogn wsZHl XA 1,700,000,000& * 14! 1,700,000
OHEE oNEde 23 378,000
—IFH0HENE 22
378,000,000& * 14 378,000
OdIgE oNEdl 22 461,000
—HUAHEME 2
170,000,000& * 14! 170,000
—SJIE0HENH 22
170,000,000& * 14! 170,000
—SHANHEHE 2
121,000,000& * 14 121,000
0Q Al -2 -7 WSHIEEH HEMES 322,042 0 322,042
Onssty 24u=s NN 223
322,042,000 * 14! 322,042
QI HSI I El 630,000 530,000 100,000
306 =3 630,000 530,000 100,000
01 &3 630,000 530,000 100,000
OeIMsd&EsHtIIg &4 630,000
—Al 23 500,000,000& = 1A 500,000
—Al2l) NEgEAME &3
130,000,000& * 14! 130,000
NESHEE SHAIEH X (2HEEXA) 20,000 20,000 0
307 QI2t0I & 20,000 20,000 0
02 BIMABAAHE S 20,000 20,000 0




SN

S &

HH: 2RI ULSDEX(DE/ROILESSDS)
Gl DRSANMA (Erol: &)
SN - BB B - NBAR - BYS Ofl Aot daz MimE==
0l &t
OXNENZHE SHAEHl X
20,000,000& * 14! 20,000
TAStS CAITH(DS/BY - XYDSK) 444,849 508,778 163,929
= 31,000
Al 413,849
HMsHEXIR 81,347 77,477 3,870
HMSIEE A2 70,047 48,265 21,782
201 LBt2AH| 36,447 36,565 A118
01 AFR2teld| 6,720 6,658 62
OFAF 0| AEE 35,000& * 4CH =~ 12& 1,680
oMY s S5 2 560
—100L 1,840 = 200 = 100& 368
—50L 9603 = 200 = 100 192
OLSY IHASE DY
30,000& = 48tA « 12& 1,440
Os¢3 A 250,000& * 23] 500
Oa3| =< 20,000& = 1108 = 18] 220
Oxclal Ea 300,000& * 23| 600
Onsg 3e&Hl £l 200,000& * 23] 400
QuURE YHIEZHE 2| 300,000& = 13| 300
OnsME SAD| dXta
85,000& * 12& * 1CH 1,020
02 S32g| 29,727 29,907 A180
OHSK X 1,000,000 = 14! 1,000
OREYs AI2E 10,000& * 12& 120
O2Z22=2 &A= 80,000& = 12& 960
O3322 dJIE 1,000,000& = 12& 12,000
OZBZ222 &ol=E MEES 120,000 * 12&8 1,440
O28, 014, FI| QHF2A 242 S
580,000& * 1A 580
OBMsISHE ZHX 22
1,000,000& * 18] 1,000
O HAZH|
9002 * 102 * BAI2F * 100 2,700
O2L2 S| 74,3002 * 4.4icd 327
Odiugl)| X122yl 100,000 = 21CH 2,100
QUEEI|XM SAl2eld] 100,000& = 53| 500
OMBEAIEZE HIIHEEAH
3,500,000& * 23] 7,000
405 KRS B 33,600 8,500 25,100
01 AL SEF SHI 33,600 8,500 25,100
QuURE YIEZHEH 1¢] 5,000,000& * 3CH 15,000




SA SHIQITHHS D
H: HASE CAXH(DS/TY - ALDK)
C9l HASIST (et &H9)
S - FHE - 9l(SH) - NIRAY - BaS Ol Akt Dl HIDE2
- [ - S &= Of| AkoH WsSa
ONS8 JAE 238 7€
1,300,0008! « 2CH 2,600
OuSE 014 7 800,0002 * 20CH 16,000
AEE HEs) 29 11,300 29,212 17,912
201 Yeke | 2,900 2,900 0
01 Al=22| 2,900 2,900 0
Os2 S M 1502 * 2,000 300
O2= 4o M 60,0008 * 1574 900
ONREE 5 2 1,700,008 * 14! 1,700
301 YBHEFZ 8,400 26,312 17,912
12 JIEF2 A2 8,400 26,312 A17,912
O AL (LEH2AH)
35,0008 * 3AI2H * 414D « 203 8,400
HASER 185,966 190,800 14,834
= 31,000
Al 154,966
EPETENEL 15,166 20,500 15,33
201 Yt | 7,380 8,180 2800
01 Al222H 4,330 4,380 0
OBMsts B8 840 M
60,0008 * 124 * 13 60
OBMNSEIS A g
70,0008 * 10 » 23] 1,400
OmMsts 822 A
5002 * 35 * 1,008 1,500
OFRZMALIA 0188 1,420
— LAY BUZH 242
20,000,000 * 3.5% 700
—SHO0IX AYOISAHIA 0182
60,0008 * 122 720
02 2229 3,000 3,800 2800
OBMSISHE SHOIX SXI24
750,002 * 42 3,000
301 YBHEEB 7,786 2,320 5,466
12 JIEF2 A3 7,786 2,320 5,466
032 TZ2XSH OJICI0I ZAEH(12) 2,000
—J|= 250,0008 * 1AI2} * 43 1,000
—=7 120,0002 * 1AI2} * 43| 480
—fng 13,0002 * 108! * 43| 520
OZ=ol M2t 28 =Y 5,786
—-J|= 250,0008 * 1AI2} * 113] 2,750
—%=7 120,000 * 1AI2¢ * 113 1,320
—fng 13,0008 * 128 * 113] 1,716




2A: Bl

HM: HAMSHS CAZM(LS/EYN - AYNSK)
ool BMSERY (SHel JE)
- _ _ bSIE =
2A -3 A2(ZH) - MIRAR - BES 04| Ao O“ﬂ,nou Hns2
HAHTAMSHSR T2 )M 29 20,000 10,000 10,000
307 12| 10,000 10,000 0
02 DIZIHAAII B X 10,000 10,000 0
OMAZT|BEASHSR T2 29 ALY
10,000,000 * 1Al 10,000
308 XIXISHHISOIE 10,000 0 10,000
11 2O 2SO EHE A X EFALHI 10,000 0 10,000
OXAINE HMsHER T2 2AALY
10,000,000 * 14! 10,000
W ASHES S BIALY 67,400 41,000 26,400
201 LBt AH| 4,000 4,000 0
02 2Z29H] 4,000 4,000 0
ONZHMSHS T A5 ¢13|H]
4,000,000 * 13 4,000
207 & RIHEHH| 20,000 0 20,000
01 29| 20,000 0 20,000
OQEMSHSTAl S| LEHE HAREN
20,000,000 * 1Al 20,000
301 LEEAZ 1,000 0 1,000
12 J|Et2 A2 1,000 0 1,000
OYFAl BHNSE SUERs| 2ALE 1,000
-l 250,000 * 1AI2+ * 23] 500
—=1 20,0008 * 23 240
= 13,0002 = 102 * 23| 260
307 12| 42,400 37,000 5,400
02 QIZIHAAIAE X 42,400 37,000 5,400
OLMsEHS S02| 22AMY(2X2 90%)
1,000,000 * 624 * 90/100 5,400
O0tESHe U= HAsSIsIZ S AY
10,000,000 * 1Al 10,000
OIS NSXIAAND[ZSSE](BEXS 90%)
30,000,00024 * 14! = 90/100 27,000
() HBa| B A2 TS5 | X 3,400 3,400 0
[= 1,000
Al 2,400
201 LEH2HH] 3,400 3,400 0
[= 1,000
Al 2,400
03 A2 ZH] 3,400 3,400 0
OB A= HMsHEEE 5| JiE
3,400,000 14l 3,400
[= 1,000
Al 2,400




SN

A BYSS CAXS(DS/TY - NADS)
Sl WSS (9l ®2l)
- _ _ HEAS
S - 3 - R(SH) - MRAY - BAS Ol &k OH 01l AkoH HwE2
() 4012 NS XA A 20,000 20,000 0
< 6,000
Al 14,000
307 BI2H0I M 20,000 20,000 0
= 6,000
Al 14,000
02 SIIBAAIIBE 20,000 20,000 0
OMQISHDS XIZAIY 20,000,008 * 14! 20,000
= 6,000
Al 14,000
(T)=olatey 60,000 60,000 0
< 24,000
Al 36,000
307 DI2H0IA 60,000 60,000 0
= 24,000
Al 36,000
02 BIZFFAAIIEE 60,000 60,000 0
OZeItHs 2 ALY 60,000,0002 * 14! 60,000
< 24,000
Al 36,000
BB 177,536 240,501 162,965
N[nE 177,536 240,501 162,965
101 Q1214 21,106 25,326 14,220
04 IRH2ZREES 21,106 25,326 A4,220
OWSE 22l ISYU(BAIR) 21,106
—ol=g| 73,2802 * 19 * 2302 16,855
—FE4Y 73,8021 * 1% * 482 3,518
—HARIRIEY 73,2802 * 1Y * 10 733
201 Lereay| 6,080 6,815 AT735
01 At 2ielt] 6,080 6,815 A735
ONeInS2Y NSUl KO
5,008 * 20% * 8IS * 13 800
OAZDESY H40HNSER, HYA S)
60,0002 * 844 * 23 90
OARIRE E22IZ3 R
15024 * 4,0000H * 23] 1,200
ORE0IZHA B2 40t M
60,0002 * 6744 * 23 720
OABImS 422 Ml 1,002 * 1,0000H 1,000
OTj&gt DlalZz) 20,0008 * 2000 * 13| 400
OHIZIAEREF D42l 2 &
500,000 * 2CH * 13l 1,000
206 T2l 7,130 6,350 780
01 M=l 7,130 6,350 780




2A: Bl

Hal: PSS CAZS(DS/TY - NHDS)
el BAsEAY (SH9): &)
- _ _ HEAS
A - B SRA(Z) - MRAY - BES Ofl &b oK 01l AkoH HnS2
OFE02NE A58 U2 2y
30,0008 * 20 * 43| 2,400
OZbiE THHEX 2
(0002 * 35 * 252 « 23] 750
OANEIDS MEWEs| W2
40,0002 * 10D+ * 23] 800
o2l 458 &Il S 7Y
30,0008 * 7IHS * 65 1,260
O0IS2 1S IR A
20,0008 * 43 * 109} 800
OZRISUDA el I 2ol
40,0002 * 10742 400
Oslsliet S8 ME 7Y
10,0002 * 43 * 107 400
OBIRIAELS 3T /S 2
40,0002 * 13 * 8N 320
301 YUEFSZ 143,220 202,010 58,790
12 JIEI2a3 143,220 202,010 58,790
OARIDS FAUA 4 116,480
~XAHS, WA, SO L3
35,0002 * 812 * 3AI2t * 32 23] 53,760
—2sl0lz 25
35,0002 * IS * 2A12F * 322 » 23] 26,880
—oI2We A7
35,0002 * 8IS * 2AI2F * 322 23] 35,840
OABIIS O} & FUUA 4 26,320
—XAS 2 23
35,0002 * 1242 * 3AI2t » 242 23] 5,040
—2si0z 2 23
35,0002 * 19342 * 2A12F * 82 * 23] 21,280
ONRIRS RAGI0IZHA BHLAF 25
35,0002 * 3AI2F * 43| 420
IJTHB 25 Y 2Y(DS/RILEESDS) 3,866,409 3,326,702 539,707
= 1,799,000
= 1,800
Al 2,065,609
THE 29 3,866,409 3,326,702 539,707
2 1,799,000
= 1,800
Al 2,065,609
NEEAZ 2 418,751 375,380 43,371
101 Q1248 76,918 77,661 A8
SIEY EED=T=ES 76,918 77,661 ATA3
OZA H2 BPE ¥ 24 29 oz 67,493
—J=3 73,0802 * 3% * 2472 54,301
—FE4G 73,0802 * 3% * 492 0,773




SN

S &

M ZSCNZ &5 & 2 (LS/[OLESSEUSR)
el TAE 2 G=CE-E
S - R - SRIEH) - ARAY - BAS e G HIDE2
— %Xt 73,2803 * 3H * 11 2,419
O357g &4 A=Y 9,425
—Jl== 73,2809 * 18 * 105 7,695
—F=5+E 29,3103 » 18 » 48¢ 1,407
— g x==g 29,3108 » 18 » 11 323
201 k= 132,833 120,619 12,214
01 AtR2t2|H 34,208 29,869 4,339
OFJItdiE 7¢ 15,0008 » 205 » 128 3,600
OzAEHelgE 7Y 200% * 45 * 3,000 2,400
ORFID Ei & B 23 AEIH 2,600
—RFID OIEAt HES 1,200& = 1,0000H 1,200
—RFID EH] 300& * 4,0000H 1,200
—B B8 AEIA 503 * 4,0000H 200
OCXIER=a 22| 900
—Xzd ol=Al 2 30,000& = 10H 300
—0I2X3 PC =2l
100,000& = 30CH * 20/100 600
ONZYTHZ 2R3 &4 22
70,0008 = 10& * 22 1,400
OSAZ 2227 24|
7,0008 » 18 * 3656¢ 2,555
ONHE Al Aol 2 500,000& = 3H 1,500
O=ANZ 0l8AE SAD| SR
110,000& * 6& *1CH 660
O&AIH 05 7Y 6,850
—33J&E gFeHoldA
2,000,000& * 1CH 2,000
—2|F CAL E+240l4tlA 3,900,000 * 1CH 3,900
—FAE? -ctoldA 95,0002 » 10CH 950
oMl SEH 85 2L 2,819
—100L 1,8402 * 30H * 320 1,767
—50L 9603 * 30H » 365 1,062
OFar7 & FAES 718 40,0008 » 123 480
Ostaal st 7
36,0003 » 78tA « 123 3,024
Os1=al #EElE 7
33,0002 = 5%t~ « 123 1,980
O&==J| =AY 35,000& = 204 » 128 840
Osg3aaAs 250,000 * 23 500
O=AZ 0IEXAE SAD| EHY
300,000& = 73 = 104 2,100
02 &= 83,625 75,750 7,875
OAEEAMZ 22l 75,075




SN

X‘liH:

I % (Sre: &2
= z 5 T bSEL
S - ZH - SRA(SIH) - HIRAY - BaS ol &k e HlmE2

—OlZ0INEA estre JY o=6l(LPe)
800,0002! * 6% 4,800
—FIIAE2 1,300,002 * 128 15,600
—NEISE AR 200,008 * 122 2,400
—ASE S FN=24 300,0008! * 122 3,600
—ULIAIAE STl 2,000,000 * 14 2,000
~HBAAH SABI(NAY S8 SX24) 21,949
EHO0IX AtH
15,454,008 * 7/100 * 1.1 1,190
- SA2l M
3,636,0008 * 7/100 * 1.1 1,050
Seo B 7,363,6368 * 7/100 * 1.1 567
- BHOITIY| 2 S/
8,810,008 * 7/100 * 1.1 1,449
- UPS 5,854,008 * 7/100 * 1.1 451
- ERETE
24,090,000 * 7/100 * 1.1 1,855
I—l:x.”o.l}\lAE-H(H/W)
5,000,008 * 7/100 * 1.1 1,155
DBZ 2 H O Al A& (S/W)
21,272,000 * 11/100 * 1.1 2,574
SHHBRICHAI ALY
19,778,002 * 11/100 * 1.1 2,39%
- RSl AIAE
22,909,001 * 11/100 * 1.1 2,773
- JHOIE R EHAIAEY
25,000,002 * 11/100 * 1.1 3,036
SLIESONES-TEIEEY
10,000,002 * 11/100 * 1.1 1,210
P 224
20,401,818%1 * 10/100 * 1.1 2,245
—FHUIAIAY KXl 105,008 * 122 1,260
—CHZRIZR O ST
210,0002! * 122 2,520
—EH0IX S| 58,0002 * 122 1,89
—AFID Bl RXI22l 7,818
ALKE 2ICD|
2,840,0002 * 7/100 * 1.1 * 3CH 657
- )|
24,500,009 * 8/100 * 1.1 * 2CH 4,312
- A
8,500,008 * 7/100 * 1.1 * 2CH 2,849
—CHES otall) 420,002 * 18] 420
—orE PSR (22T], HINL QEFA)
230,002 * 2F * 122 5,520
}\l/\ﬂ X-Ile—lj—ll:HoH _J'k_J\E
250,0002 * 122 3,000




SN

X‘liH:

SH|CITHEA D

Sl
DTN B 2 29

el TA2 2Y (el &)
S - R - SRIEH) - ARAY - BAS e G HIDE2
—SEES AIEE 16,000& » 12& 192
—CCTV =Al2ell 100,000& = 21CH 2,100
OdAMb Hi2el & 895,000& = 20H 1,790
OZAH C1A3 =& 1,030,0008 * 29} 2,060
O AZ EHOIX 2ol0IE 242
1,000,000& * 14! = 1.1 1,100
OZAlZ AR EH 1,800,000& * 22 3,600
03 &A=& 15,000 15,000 0
OsA2atdA 24 13,000,000 * 14 13,000
O=7tll S3tAL 2 2,000,000& » 14 2,000
207 H-HE] 22,000 20,000 2,000
02 MEDHEH| 22,000 20,000 2,000
OZ A2 SHIOIX JH# 22,000,000 = 14 22,000
308 XA SOIA 110,000 95,000 15,000
08 W=J[20tHetE = 110,000 95,000 15,000
OuFE A TA2 ZA7H| 110,000
—IFEHIEA2 100,000,000& = 14 100,000
—3|= 10,000,000 * 14 10,000
401 AlEHIYL SO 4,000 0 4,000
01 AlZH] 4,000 0 4,000
O=IHH HSLAZH ZMHIAL
4,000,000& = 14! 4,000
405 Ktk SH| 73,000 62,100 10,900
01 NI =ZFSHI 19,200 10,800 8,400
OdAMl +& 13,000,000& » 1CH 13,000
oups e 6,200,000 = 1CH 6,200
02 =M= 53,800 51,300 2,500
OANEEAZ A7 53,800
— 2Bt A 15,0008 * 1,000 15,000
—OISEA 15,0008 * 2,000 30,000
—DV0 ¢ 26,0008 » 508 1,300
—CXNE2E=(HRY S) 7
50,0003 = 1503 7,500
A2ch 4 & 23 45,658 50,322 N4,664
101 21244 32,758 32,022 736
04 JIZtHI22 XS 32,758 32,022 736
OX2h2 28 22Y 32,758
—J==2 9,160& * 6AIZF » 29 » 240 26,381
—=5E 9,160& » 6AI2+ » 2 » 47 5,167
— Xt 9,160& * 6AIZF = 28 = 11& 1,210
201 ZetE2gy| 900 900 0




SN

7(‘|J_:H:
ciol Ca2 % (242 &)
, o AT =
-‘?—H * Iﬂi-" [:I'Tl(S’—D:") * HI-‘?—A"% * -}5’5‘% 01|An_|'(l|H 01|,\|.o|.| HlDLsDDI'
01 AtR2telt| 900 900 0
O&2E M2 2F 3| 300,000 * 3IHA 900
405 XHAHEISHI 12,000 17,400 A5,400
02 =M= 12,000 12,000 0
ORSTMNB(AY, 5, BS) T4 7Y
4,000,000& * 3H2 12,000
(D)H22H2 =4 6,000 6,000 0
& 1,800
Al 4,200
308 AXISHKMSOIA 6,000 6,000 0
& 1,800
Al 4,200
08 W=I| 202X 6,000 6,000 0
Ogtull oIESA2 29 XA
6,000,000& * 14! 6,000
= 1,800
Al 4,200
AL ST S8 8,000 8,000 0
307 2I2H0| A 8,000 8,000 0
04 DIZIHALAIHEE X 8,000 8,000 0
Og=A0 S52 S2(BXE 90%)
8,000,000& * 14 8,000
IELN X YHI 23,000 23,000 0
307 2I2H0| A 23,000 23,000 0
02 BIHABAAHES 23,000 23,000 0
O02l0l oM o222t L YHS|(BEE 90%)
23,000,000 » 14l 23,000
(2)olUs =3=A2 2AHE 2,198,000 2,198,000 0
= 1,099,000
Al 1,099,000
401 AIEHIZ 21| 2,198,000 2,198,000 0
= 1,099,000
Al 1,099,000
01 Al&HI 2,190,088 2,190,088 0
OSDTA AT (MESC=E)
2,198,000,000& * 14! * 99.64/100 2,190,088
iy 1,095,044
Al 1,095,044
03 AlE 20| 7,912 7,912 0
O3STA A (MESIC=E)
7,912,000& * 14 7,912
s 3,956
Al 3,956
(R)oILSSSTA2 SEFXE =24 1,167,000 666,000 501,000




SN

S &

M ZSCNZ &5 & 2 (LS/[OLESSEUSR)
el TAE 2 G=CE-E
S - R - SRIEH) - ARAY - BAS e G HIDE2
s 700,000
Al 467,000
401 AlZHI2L SO0 1,167,000 666,000 501,000
= 700,000
Al 467,000
01 Al£H] 1,162,799 463,065 699,734
OBlYE 2REHZ FAE E4
1,167,000,000& * 14! x 99.64/100 1,162,799
[ 697,750
Al 465,049
03 AI&S0HY 4,201 2,935 1,266
Ootds SS=AM2 F=XE =4
,201,000& = 14 4,201
= 2,250
Al 1,951
SHE2AZHI(SHIIH LA D) (J1EH IIE) 145,074 144,374 700
el 2| 45,426 41,602 3,824
el 2| 45,426 41,602 3,824
101 el24b] 45,426 41,602 3,824
03 SRE(RIH) 2224 45,426 41,602 3,824
OAE A2t FAR2 45,426
—Jl== 2,371,960& » 18 » 123 28,464
—dEsHl
2,371,960 = 75% » 1& » 23] 3,558
—gd2+E 2,371,960 » 50% = 18 * 23] 2,372
—iEsg 720
- B A 40,0003 » 1& » 128 480
JIE 20,000& » 18 » 128 240
— A2t R4
13,9163 = 150% * 15A12H » 18 » 123 3,758
—gaesy
11,3283 » 150% = 18 = 12& 2,004
—dx=aERIE 11,3288 » 18 « 15 1,670
—dAsA| 140,0008 » 18 « 122 1,680
—uwSE M| 100,000& = 1& = 128 1,200
Jl=& 99,648 102,772 N3, 124
Jl=&H 99,648 102,772 N3,124
201 ZetEg| 23,568 27,592 4,024
01 ArR2t2|H 23,568 27,592 N4,024
OSAEAl 7Y 16,0008 » 1824 » 12 3,456
OS24l 7,000& » 64 = 18 » 123 9,072
Ogttez 100,000& = 12 1,200
Oan2 EA-I 50,0008 » 123 600




SAM: ALt
IE: HH2H A (ML EIH OIEHIIED
el Jl=3l (el &)
S - R - SRIEH) - ARAY - BAS e G HIDE2
OARE 44| 8,160
—SAD| =2l 500,000& = 2CH 1,000
—Z2IE =2 100,000& = 4CH = 50/100 200
—SADI EY 200,000& = 53 = 104 1,000
—IOZlef EW(E%)  200,0008 * 53] * 4CH 4,000
—ZglH EU(Z2)  200,0008 * 53 « 104 1,000
—PC ==cl 100,000& = 18CH = 20/100 360
—JIEL ==l 50,000&  12& 600
OJIEH AFR2t2IH] 5,000& 188 » 12& 1,080
202 O 71,280 70,380 900
01 =LHALI 71,280 70,380 900
OZLH0BI 20,0003 = 18& » 12& = 128 51,840
O22|04t| 90,000&  18% = 12& 19,440
203 g2=2&ld 3,600 3,600 0
04 EXZEHRFAI 3,600 3,600 0
ORAN2E LR 300,000& = 12& 3,600
204 2R HH| 1,200 1,200 0
01 MG AR+ 1,200 1,200 0
ORI Q482 (LI UL L TR

)
100,000& » 1& » 12E 1,200






